4 3 v 2 | 4
PROPRIETARY REVISIONS
THIS DRAWING CONTAINS CONFIDENTIAL INFORMATION
PROPRIETARY TO GMW INC. IT MUST NOT BE REV DESCRIPTION DRAFT DATE APPROVED
e eEn e (3)(4] 152> DVERTEMPERATURE SENSTR e SO T
IN WRITING BY GMW INC.
NOTE: TERMINAL COVER ITEM 2 OMITTED ON THIS VIEW
COIL DATA
26 U
CENTRAL FIELD @ 5A 0. 08T
m TOTAL TURNS PER COIL 950
COIL AMPERE TURNS 4, 750
RESISTANCE @ 20°C 3,52 ohm
MAX RESISTANCE 4. 40 ohm
MAX CONTINUDUS POWER Caird 3. 5A/15V dc (S2. 5W)
MAX CONTINUDUS POWER C(water) 5. 0A/22V dc (110W)
COOLING (WATERY 0.5L/min @ 0,2 BAR (3 PSID
I e COIL MASS 5 kg
[ [ — DO NOT EXCEED THE MAXIMUM SPECIFIED COIL RESISTANCE
- OR COIL OVERHEATING AND POSSIBLE DAMAGE MAY OCCUR. | |
1
|| / 12]  1]10907-0035-0 |LABEL, SPECIFICATION—CAUTION [LH Coil]
11| 2[INDENT 72—173|HOSE CLAMP 8—12 S/S, NORMA
10| 4|DIN 433 M5 WASHER, FLAT S/S
- . MS MOUNTING HOLES Gmm DP [x4] 9] 4[DIN 7980 M5 WASHER, SPRING S/S
e CURRENT TEmMINALS 8 2[oIN 433 M3 WASHER, FLAT S/S B
TERM boPOS. TERM 1oNEG 7 2o 7980 M3 WASHER, SPRING S/S
6| 4|DIN 7985A M5 x 12 PAN HD PHILLIPS SCREW S/S
WATER IN/OUT CONNECTIONS FOR 6.0mm 1D HOSE 5| 2]|DIN /7985A M3 x 20 PAN HD PHILLIPS SCREW S/S
SECURE HOSE ONTO COPPER TUBES WITH ITEM 11 [ 4] 1 WASHER, NEOPRENE 16 x 4 x 4
3| 1[3450G6611-1 | SENSOR 50° C, ELMWOOD
NOTE: 2| 1[17801570 TERMINAL COVER -
1SAPPLY A SMALL AMOUNT OF THERMAL GREASE TO THREAD ON SENSOR BEFORE FITTING ONTO COIL. 1] 1111801522 COIL_[LH Colil]
ITEM | QTY PART NUMBER DESCRIPTION NOTE
PARTS LIST
DATE
2>THE OVERTEMPERATURE SENSOR SHOULD BE INTERLOCKED TO THE COIL POWER SUPPLY. CboucLas oy | B NOLSCALE | X NI
IN THE EVENT OF COOLING WATER FAILURE THE SENSOR WILL OPEN CIRCUIT SHUTTING CRECK | owesons & rowences | 955 ndlustiial Rd, San Carlos, CA 94070
DOWN THE COIL POWER SUPPLY. ENGINEERING DATE UNEAR | INohES o Tel: Ammovmom\mmaw Fax: Amwovmom\mmmww >
xxxx_| +.00f | +0.03 [1imLE
3>DURING OPERATION DANGEROUS VOLTAGES CAN BE PRESENT AT THE COIL TERMINALS. o =y T OOl ASSEMBLY [LH]
THE TERMINAL COVER (ITEM 2) SHOULD BE FITTED AS SHOWN ABOVE. THE TERMINAL COVER WILL — VMODEL: 3470
PREVENT ACCIDENTAL CONTACT OF PERSONNEL OR METAL TOOLS WITH THE LIVE TERMINALS. =T N R :
A METAL TOOL DROPPED ACROSS THE LIVE TERMINALS CAN PRODUCE A DANGEROUS ARC. T V7 | 5 TSZE [ oRawG No. REV
NEXT ASSY SYSTEM THIRD ANGLE PROJECTION >M \4 \4 mO\g (WVMLv >
SOFTWARE
vooF MOUNTING  HARDWARE. AUTOCAD 2000 @ m SCAE 11 [ W1 kg [sweer 1 or 1
4 3 A 2 | 1 |



